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@ 2REERE R EEER RO E R (T E RER KRR

(a) EEERE (b) HUIFZEIRH (FRMMIER)
REE 2 RERBHK HREIS (%) g fR 2RERER HREIS (%)
1. 250k 26 76 1. 258k 4 12
1. 15 E~1. 25K 46 134 1. 15 k~1. 25K 30 8.7
1. 05 k~1. 15K 78 22.7 1.058k~1. 15K 77 224
0. 95LlE~1. 05Kt 110 320 0. 95kl E~1. 05K 130 3738
0.85LlE~0. 95kiH 75 218 0. 85k E~0. 95k 102 29.7
0. 85K 9 26 0. 85K 1 03
A&t 344 100.0 = 344 100.0
TASEYEREOELV 2RERE TASRYEREDEV2RERE g EEROE L 2RERE g EIERDIEL2RERE
() ()
JE4L 2 RERER 1TASYERE JE L 2 REREA 1A -YERE B4 2REREA iR -3 2 RERER HigE TR
1 it (REAIR) 548,940 1 AN 11| Gh#EIR) 242,143 1 it (REAXIR) 1.43 1 b FiRR) 0.85
2 3| (BRI 505411 2 B5E GhiRR) 261536 2 = (BEER) 1.28 2 |R=AAE @R 0.86
it 3 thZ240 [€1#::30) 465,280 3 |REH (ERHD) 269,593 it 3 |EH (H1RR) 127 3 |mE-wsm GRER) 0.86
£E T 343,485M 4 R= (BEIR) 463,366 4 |hER (HHBR) 273,464 BRA/ R/ THE 4 |FERE (BERER) 1.26 4 |E=AEHE (EBHR) 0.87
BR/ T/ 2315 5 - [ON_TO) 457,104 5 BT (FHIR) 280,277 RS 0.09 5 R (RIFR) 1.25 5 = (HHBIR) 087
EHRE 0.12 6 D (EER) 455,952 6 XEFEH (R 281,484 6 Hi7k (BRBR) 124 6 |mE=AmHR (BHE) 0.87
7 BR-HRE @ELR 455931 7 RehREp (R 283,426 7 A EBR) 123 7 |EE (REFR) 0.88
8 pN::| (BRI 455,250 8 | BER 286,495 8 ok EBR) 122 8 |N\EW (PiBR) 0.88
9 g (BRBR) 452,530 9 |EA-RE CREE) 288,335 9 i EeR) 1.21 9 | KHE-fEH @ER) 0.88
10 JH3# [(T]=]:9) 449,936 10 |2KIE (RAR) 293,144 10 |H#Ep (EER) 1.21 10 |BUBHER  FRER) 0.88
(A) (F)
JEfL 2RERBA 1TASYERE {53 2RERES 1A -YERE B4z 2RERES i E R B4z 2RERBA HbigE TR A
1 it (RERIR) 248279 1 XEEED (FRHD) 89,505 1 it (BEAR) 1.70 1 BABNR (BHR) 0.71
2 chZe4n (dLiE:E) 224,359 2 XEFESD (R 91,592 2 A EER) 156 2 |E=AmsE (@R 072
N 3 Eif:id (EBR) 224,147 3 |E=AmmE (BHER) 93,008 N 3 JLiESEL dtieE) 155 3 |BRAE  (EHR) 0.77
2EF 130,531H 4 JEM (BRE) 220873 4 |RPRE (REE) 93,611 BRA/ R/ 2418 4 |FEiE (BREE) 155 4 | (BEIR) 0.78
RK/R/ 2865 5 |miE (ERER) 212,341 5 |E=ARSE (BHE) 93,777 ZHREK 0.18 5 thZe s [€14::5)) 152 5 |&vEE BER) 0.79
EHREK 021 6 dtiESEL (tisd) 206,158 6 |HE-TE RER 97,944 6 B3R (RIFR) 147 6 |HAE-TE (RELR 0.79
7 BR-HR LR 204,930 7 |/\EW (HHBIR) 100,136 7 FEE (EER) 146 7 |BREEH  (EBHMR) 0.79
8 ®E (L) 203,726 8 |HA-RE  (RER) 100,581 8 [ BB 146 8 |Li@ (TR 0.80
9 |E®™m (1R 203,675 9 |EfT (R 100,918 9 |aR-FE ERBES 1.45 9 |BE=ALE @EHR) 0.80
10 ¥ war) 203,357 10 |o<KIE (RFR) 101,238 10 |EA (BRE) 145 10 |REEFEELE (EHE) 0.80
() ()
JE4T 2 RERER 1AL-YERE JEAT 2RERES 1ASYERE (33 2RERES g = TR JE4T 2RERBSA g 1R K
1 it (REAIR) 281,173 1 J\EL (HHBR) 127,162 1 =it (BEARIR) 1.34 1 X (BERBS) 0.77
2 |EH (S1RIR) 262,563 2 |E® 131,167 2 |Rk= (BHIR) 123 2 |z (ERBR) 0.78
ABzst+Ea%| 3 RE (FHR) 243271 3 g 133,180 ABzst+ 2% 3 AR [C=T) 1.21 3 |E" (HHBR) 0.80
£EF1 188,324 4 - [ON_TO) 239,361 4 EwX (BERSR) 137,462 BX/ &N 1T 4 EH (BRI 1.20 4 pog=] (RIER) 0.84
BR/R/ 2215 5 KH (BRE) 234316 5 |#EE (BERBS) 146,970 EHRE 007 5 hif EBR) 1.17 5 |BL& (REH) 0.84
LR 0.10 6 FEHNHE (LOR) 231,990 6 |R=E (eis:8) 148,209 6 HiK (BRBER) 1.17 6 |/\EWL (HHBIR) 085
7 = FENR) 229426 7 |FaER (PHBR) 150,200 7 L8 [ON-TO) 1.16 7 b ¥ FHRR 0.85
8 & wng) 228,467 8 Ela: ] (HHBR) 152,929 8 [T ENR) 1.15 8 &L (L) 0.86
9 EE [(T]=]: ] 226,926 9 BL& (RHD) 155,101 9 R (RIBR) 1.13 9 |BRuk (SRR 0.86
10 X (F)INR) 226,693 10 | (RER) 156,238 10 |®E (EBES) 1.13 10 |=@ (BER) 0.87
(F) ()
JE L 2 REREBE 1TANSTYERE JE L 2RERBEL TAS-YERE JE L 2RERBE iR JE 4L 2RERBS i E TR
1 - [ON_TO) 31,395 1 J\EIL (HHBIR) 14,845 1 AN (KRR 1.29 1 T (FHRR) 0.69
2 HIAIN (KBRFF) 31,215 2 g (iR 16,573 2 KB (KPR 1.28 2 |KE (REFR) 0.69
wE 3 =8 (KBRAF) 31,154 3 | Ttk (HFHB 16,922 W 3 | (KPR 1.26 3 |/\EW CHiRR) 0.70
£EF1 246290 4 R (KBRAF) 30,778 4 X (BERBR) 16,947 BR/&IN191E 4 R (KBRFF) 1.24 4 = (RIBIR) 0.71
R/ 2145 5 = (KBRFF) 29,571 5 |4t ChiRR) 17,084 ZERE 012 5 BAm (KRR 118 5 |Ex (BERBS) 072
EERH 012 6 |E5 (K&R) 29,553 6 |=® (hiBIR) 17417 6 |E& [ON=TE) 118 6 |mm #BHR) 0.72
7 pole] (KBRFF) 29,420 7 |ES (RIBR) 17,885 7 =1 (KBRF) 1.17 7 BE (F3RER) 0.73
8 KB (KBRAF) 29,277 8 HEE (BRER) 18,114 8 Bl (KBRAF) 117 8 REEILE  RIIR) 073
9 de [CEETO) 29,103 9 3k (HHBR) 18,260 9 e (2R R) 117 9 i (BERIR) 0.74
10 JeZ250 (3t i838E) 29,031 10 |dLiE (RER) 18,511 10 |RM (KIRFT) 1.16 10 |BEE (ERSR) 0.74




T BT+ B RAEER R Ui Z 2 (AT E R R KRR

(a) EEERE (b) HUIFZEIRH (FRMMIER)
REE LLIEPE:S HERREIS (%) g LLEES HAREIE (%)
1. 250k 162 9.3 1. 258k 46 26
1. 15 E~1. 25K 213 122 1. 15 k~1. 25K 142 8.2
1. 05 k~1. 15K 403 23.1 1.058k~1. 15K 378 217
0. 95LlE~1. 05Kt 473 272 0. 95kl E~1. 05K 609 350
0.85LlE~0. 95kiH 379 218 0. 85k E~0. 95k 492 283
0. 85K 111 6.4 0. 85K 74 43
A&t 1741 100.0 = 1741 100.0
TA LY ER R OBV HETH b VAEEUERROELHE - ol 2 R M DR LV ATA Hhigh 2 R B D IEL VBT A
& M
B4z HEA 4 1TASYERE JE AL THHEH & 1A -YERE JE AL AT & iR -3 THETF 4 HigE TR
1 MUBIF  GLiEE) 656,926 1 REH (HHBIR) 197,583 1 [TV LS E 3] 1.82 1 REHN (PRBIR) 059
2 BERA (BER) 621,251 2 |"rEEr GhiRR) 198,044 2 BB [T 150 2 |inaF (RER) 0.67
it 3 |RIeEr (LELR) 573,807 3 INVERR GEEE 199,776 Hi 3 |kRw (RERIR) 1.44 3 | BARHA (BHIR) 0.71
2EFH 343485M 4 K& (REARIR) 557,794 4 |t (RER) 207,003 BRA/ R/ 311E 4 BB (BEER) 144 4 |FrEET (HBIR) 0.72
BKR/ T/ 3315 5 NIRRT (BRR) 548,230 5 EERARRAT  GREER) 215,652 EENRE 0.1 5 RERAET (BEKR) 144 5 2 (RER) 075
EERE0.14 6 KINF (BEIR) 547,603 6 /e (RHR) 223811 6 =E(d:) (BEAR) 142 6 | (BER 0.75
7 =4 (RERIR) 540,695 7 |E%FH (RFR) 224,590 7 R (L3 142 7 |hvER (TR0} 075
8 ERART (BEAR) 536,295 8 ZREN  (PHRR) 234,946 8 ILEFET EER) 1.39 8 ZREN (PR 0.75
9 FER [€[#:::5H) 517,465 9 | KSRET #@ER) 243,714 9 HATERT [C=1T D) 1.39 9 |EEAH (ERER 0.76
10 Jdes (BER) 517,383 10 |EEFns (BER) 244,178 N EZ (EER) 1.38 10 |EBZH (RER) 0.76
(A) (F)
JEfL THET# 4 1TASYERE {53 THETH & 1A -YERE B4z HETH 4 i E R B4z TR 4 HbigE TR A
1 Rt (FHR) 332,207 1 S o] (RER) 57,235 1 KINF (BHR) 209 1 EiEH (RHR) 0.38
2 FES (dtim&E) 284,122 2 INER (T2} 70,671 2 R (dtim&E) 1.99 2 INEFR [T} 053
N 3 301 (BER) 282,642 3 e (RER) 71,601 N 3 FAH (RER) 1.87 3 |haFR (RER) 056
2EF 130,531H 4 KEHT (BER) 281,392 4 |EmRIF (timE) 79,212 BRA/&/ 5515 4 FHEWA  (LEER) 1.85 4 |REH (RER) 058
BX/R/N 5818 5  |JiAeEr (BIRIE) 275,881 5 |REF GhigR) 81317 ZEBHREK 0.21 5 |&EH [€14::5)) 1.82 5 |EEH (hiRR) 0.63
EERE 024 6 AL ET (L8 267,071 6 |#EHTH (FRIFR) 81,756 6 KEHE (BEER) 1.82 6 =E2:) (FER) 0.63
7 s (RHR) 265,603 7 |HER (RFHD) 81823 7 |EREH GheR) 1.81 7 | FIRGET (RER) 0.64
8 FHEWA  (LELR) 259,360 8 INFRET  CREE) 83,565 8 NI (REFR) 1.78 8 2 (REFR) 0.65
9 304 (EER) 258,650 9 JIEF (REFR) 83,908 9 =B (ERSR) 1.78 9 SEHET (BHNR) 0.65
10 JEABXSHE (LAE) 257,772 10 |2BR (RHD) 84,073 10 |[FEERH  ChER) 177 10 |#HEmH (RFR) 0.66
() ()
JE4T THETA 4 1AL-YERE JEAT T & 1ASYERE (33 TR & g = TR JE4T HETH A g 1R K
1 MUBF  CLEE 404,939 1 FREM  (hER) 84,492 1 AL deisE) 205 1 FREM  (PRR) 050
2 |R)iEr (LELR) 382,003 2 INVERR EEE 85,457 2 |RIeEr (LER) 1.81 2 |BREEH  (HER) 0.55
ABzst+Ea%| 3 B (BEIR) 311,127 3 |EERARRAT  (RRRIR) 86,601 ABzst+ 2% 3 HAZERT [C=T) 151 3 ZRMEM (RS 056
£EF1 188,324 4 KEgT (REAIR) 295,152 4 EET Gh#gIR) 90,514 BX/ &A1 4 SERF EER 144 4 EEH (HHBIR) 058
BKX/R/ 4815 5 Eiud RS 277,294 5 [|BEEH (PRER) 92525 EHRE 0.10 5 KHERT EER) 142 5 | 5imET (BERBR) 059
ZoREK 013 6 |FEFE  (BHR) 273,747 6 |ZREF (PER) 95,119 6 |FEFE  (FHR 1.41 6 |FREA (PER) 0.60
7 K £ S8 (RS8R) 272,089 7 |5HEET ChER) 96,577 7 KR (RERIR) 1.39 7 INERA (REED 0.61
8 ERART (BBRRR) 269,909 8 |FARM (HhEER) 97,400 8 =EET C=1T D) 1.38 8 |MrEHET (HHBIR) 061
9 HRZEHT EBER) 269,006 9 [AKREH (PER) 103,089 9 SRILET EER) 1.35 9 |EmkH  (PER) 061
10 |EA® (BRE) 267,963 10 |EEEA  ChER) 103,129 10 |ILEET (EBR) 1.35 10 JHXEH  ChiEE) 061
(F) ()
JE L BT A 1TANSTYERE JE L HBTA & TAS-YERE JE L Lk iR JE 4L LEE i E TR
1 SRET [ON_TO) 40,991 1 BREN (RS 8,844 1 SRET [ON_TD)] 154 1 BREN (PR 035
2 PP o) (E1RIR) 40,110 2 | REH (iR 11,145 2 FEERT EER) 153 2 | ZEEH (hfRR) 047
wE 3 BEET [€[#:::5H) 36,981 3 5 imET (BERSR) 11,953 R 3 pz]:: L [€[#:::3CH) 148 3 5 5mET (BERBS) 051
2EF 1 24,6290 4 E3-u (R LR 36,502 4 |RKBE (GPRBR) 13,167 BKR/ &I 4ALE 4 FIPS (1) 143 4 [EFHH (BHR 053
BA/R/ 4615 5 prEig [CELTO) 36,364 5 SRR iz 13,180 ZERE 015 5 SHAET (R LR 1.39 5 |=Z5RET (BERBS) 056
TR 0.15 6 REEFET [UN=T00) 34,330 6 |HEFHH (BHR 13,275 6 b EER) 1.36 6 SRR [€#::30) 057
7 |k (KBRAF) 33,776 7 |BEER ChER) 13,387 A PAN=L i (KB 134 7 |RREGER  (FHB 0.58
8 By RET  (RRR) 33,550 8 PNl (BFHR) 13,748 8 ki (dtie&E) 1.33 8 L HAET (REFR) 058
9 A R8T [€l4::3 ) 33410 9 ERET (BERBS) 13,894 9 R [€[::: 3] 1.32 9 AKREHET  CRIBE) 0.59
10 |R=AHET (RBR) 33,101 10 [@RRd  (EBR) 14,320 10 | =RET (EER) 1.32 10 |FEER  (PHER) 059




Q@ 2XREZRBENEEERRUHIBERR(RHS0hEERTE)

(a) EEERE (b) HUIFZEIRH (FRMMIER)
REE 2 RERBHK HREIS (%) g fR 2RERER HREIS (%)
1. 250k 10 29 1. 258k 7 20
1. 15 E~1. 25K 31 9.0 1. 15 k~1. 25K 29 8.4
1. 05 E~1. 15Ki# 57 16.6 1.058k~1. 155Kk 56 16.3
0. 95k k~1. 05K 82 238 0. 95k k~1. 05K 90 26.2
0.85LlE~0. 95kiH 118 343 0. 85k E~0. 95k 13 328
0. 85K 46 134 0. 85K 49 142
A&t 344 100.0 = 344 100.0
TASEYEREOELV 2RERE TASRYEREDEV2RERE g EEROE L 2RERE g EIERDIEL2RERE
() ()
JE4L 2 RERER 1TASYERE JE L 2 REREA 1A -YERE B4 2REREA iR -3 2 RERER HigE TR
1 K (RIBR) 1,295,368 1 & EFR 620,899 1 R (RIBR) 1.40 1 & (EFR 0.66
2 R (FHER) 1,249,133 2 |ZF EFR 651,672 2 thk (BB 132 2 |dtReE FER) 0.69
Hi 3 HE [CEETO) 1,237,017 3 JeRE (RRER) 654,200 it 3 HE (fEmR) 1.28 3 —F EFR) 0.69
£E T 933,527M 4 |EE-£E (GRS 1219979 4 |RB FHRR) 660,561 BRA/R/ 2115 4 |EE-ARE GERS) 128 4 |RB #HRR) 0.70
BR/E/ 2115 5 FLig (dties&E) 1,208,244 5 B EFR) 667,444 ZENFREK 0.13 5 BE (FEHR) 127 5 B EFR) 0.71
ZHRH 013 6 El& R [CEETO) 1,200,331 6 Rz EER) 672,221 6 i EBR) 1.26 6 iz G0 0.71
7 RE (BEER) 1,198,130 7 - (RFR) 679,848 7 ALI% [E1%:3) 1.26 7 |xE (REFR) 0.72
8 wa GEER) 1,197,688 8 |BiR-mE @®AR) 684,427 8 Je R (2R %) 125 8 |&Et (LLfz 2) 0.72
9 EiEES [€[#:::5H) 1,194,254 9 Bt (1ufzR) 687,843 9 it [€[#:::3CH) 1.24 9 SRR RER) 073
10 |RE (EER) 1,171,754 10 |FELEME (FEHR) 696,043 10 |#a& ($E[R) 1.23 10 |BEEBE (EHE) 0.73
(A) (F)
JEfL 2RERBA 1TASYERE {53 2RERES 1A -YERE B4z 2RERES i E R B4z 2RERBA HbigE TR A
1 hR (BER) 774,121 1 Elgo4::] FER 272,496 1 R (BEER) 163 1 Elg 7 ::| (RAR) 058
2 icfilzt (dLiE:E) 739,347 2 |FEiLEME FHD) 284,548 2 i (RIFR) 158 2 |FELE#E FHRR) 061
N 3 HE (ERR) 726,629 3 A& EFR 285,689 N 3 FEREIR [€[::3CH) 157 3 |=F EFR) 061
2EFH 459,585 4 i (RIFER) 726,577 4 -F (EFB) 285,695 BRA/ R/ 2818 4 bi)= (R R) 152 4 GRS (BEFR) 061
BK/B/ 2815 5 Fi)= (BRI 720,940 5 | EFR 288,044 EHREK 021 5 g (EREB) 150 5 |&#& (EFR) 0.62
EHREK 021 6 ik (BERBS) 718,259 6 |AFFHM EFR 296,900 6 Ha (ERER) 1.50 6 |KE (RER) 0.63
7 ALiR [€1#::30) 692,341 7 |KE (RER) 299,211 7 ALI% [€14::3)) 147 7 |EFHEE EFR 0.64
8 =R RS (ERR) 671,243 8 | TFitit (FHR) 303,322 8 EE- RS ERR) 143 8 |mRiE G0 0.65
9 HH (fBRR) 667,061 9 FR- R (RRER) 306,387 9 b Gh#BIR) 142 9 T (FHRR) 0.65
10 JHtiEsEL dtisiE) 666,089 10 |&4 (EFR) 307,532 10 |ERS (ERBE) 141 10 |&B FRR) 0.65
() ()
JE4T 2 RERER 1A S ERE JEfL 2 RERBA 1ASYERE IE L 2RERES g = TR JE4T 2RERBSA g 1R K
1 L5 [T 545,835 1 A EFR) 318,071 1 LE (B8 125 1 A& EFR) 0.72
2 |a [ON=T0)) 530,774 2 K= (ERBR) 321,925 2 | R (RIBR) 123 2 |mEE (ERBR) 0.73
AResth+ER%E 3 Kb (KBRFF) 530,681 3 |E BER) 325872 ABzst+ 2% 3 KR (KBRF 1.20 3 |EA (BER) 0.74
£EF1 441,1700 4 R (RIER) 530,251 4 B (BER) 328,240 BR/ RIS 4 a [ON_TD)] 117 4 EE BER) 0.75
BRR/RN1TE 5 B (RER) 522,044 5 |&3 FHBRR) 328,984 Z TR 009 5 PR (EER) 117 5 |®&E (s 2) 0.76
ZENFE 0.10 6 AHE (BER) 509,604 6 |&EX (BERBS) 335,267 6 XS (WD) 1.16 6 |&iB GRR) 076
7 BEFEE (EHNE) 509,348 7 |&E (1Lfz12) 337,785 7 = (BEER) 1.15 7 |EE (BERBR) 0.76
8 RE (BEER) 507,753 8 BL& (RRED) 345,065 8 XEFEE  GRRE) 1.15 8 |HK (BILR) 0.78
9 &8 (BER) 506,055 9 £33 EER) 345,087 9 ST &ENR) 1.15 9 |=F EFR) 0.79
10 |RE (EER) 503,245 10 |=ZF EFR) 349,887 10 |&& (EBES) 1.15 10 |dsiz (BB R) 0.79
(F) ()
JE L 2 REREBE 1TANSTYERE JE L 2RERBEL TAS-YERE JE L 2RERBE iR JE 4L 2RERBS i E TR
1 PNt (KBRAF) 52,111 1 T (FEHER) 14,466 1 KBRT (KRR 158 1 T (FHRR) 044
2 28 (KBRFF) 50,817 2 |EEEALE ENR) 15,221 2 LHe (KPR 154 2 |EEELE  EINR 047
R 3 &/ (KIRAFF) 50,405 3 |gE (ERSR) 15,410 g2 3 |@m (KBRAF) 151 3 | (ERSR) 047
2EF1 32,7720 4 AN (KBRAF) 49,424 4 |ZF EFR 16,090 BKR/R/ 3648 4 AN (RBRRAF) 148 4 |ZF EFR) 0.49
BR/R/ 3618 5 N [ON_TO) 47,731 5 |BEiLEME (FHR) 16,375 ZERE 0.25 5 N [ON_TO) 1.46 5 |FELE#E FHR) 050
ZHRE 026 6 AR (KBRAF) 46,697 6 |/NEWL (HHBIR) 17,011 6 AN (RBRAF) 141 6 |A& EFR) 052
7 =5 (KBRFF) 45822 7 A# EFR) 17,139 7 e (fERER) 1.39 7 INELW (HBR) 053
8 e (fBRR) 45,549 8 = Gh#BIR) 17,464 8 =] (KBRAF) 1.38 8 EEmE (FEHRR) 0.54
9 BlATI2] (KBRFF) 45,247 9 e (BERBS) 17,552 9 a [ON-TO) 1.35 9 S (ERBR) 0.54
10 SR (KBRAT) 44,349 10 |#&E# (25 IR) 17,571 10 [dEAIR (KBRAT) 1.35 10 |®E (RIER) 0.54




MHF R REER R OB E R (RS hE ERFIE)

(a) EEERE (b) HUIFZEIRH (FRMMIER)
REE LLIEPE:S HERREIS (%) g LLEES HAREIE (%)
1. 250k 68 39 1. 258k 43 25
1. 15 E~1. 25K 136 78 1. 15 k~1. 25K 129 14
1. 05 k~1. 15K 234 134 1.058k~1. 15K 248 14.2
0. 95LlE~1. 05Kt 411 236 0. 95kl E~1. 05K 394 226
0.85LlE~0. 95kiH 510 293 0. 85k E~0. 95k 538 309
0. 85K 382 219 0. 85K 389 223
A&t 1741 100.0 = 1741 100.0
TAERYEREDBLHETH - TASEYEREQEOTETH - i ZER OB L T ET A i Z FE D EL AT ET A
& M
B4z HEA 4 1TASYERE JE AL THHEH & 1A -YERE JE AL AT & iR -3 THETF 4 HigE TR
1 BEreH  GRRE 1,843,040 1 BEFET  EFR 551,802 1 Hr&W  (RRE) 2.00 1 BEFMEFT  EFR) 059
2 BERA (BER) 1,431,639 2 |ERET EFR 568,131 2 20 (BEER) 156 2 |8EkET EFR) 0.60
it 3 FEFET BB 1,404,275 3 | KEH (1L fz 12) 578,014 it 3 REFET EHMR) 147 3 | (RER) 0.61
£ETF) 933,527M 4 FEHET [CEETO) 1,367,609 4 |IMEEET  (RIER) 578,983 RA/ R/ 3415 4 (S (RIFR) 145 4 MEEET (RS 061
BKR/ T/ 3315 5 TiEH (BEH1R) 1,357,820 5 AFH EFR) 580,656 EENREK 0.15 5 k™ (FEHR) 144 5 FHET (L) 0.62
EERE 015 6 e (deiE:E) 1,338,118 6 |*EET EFR) 582,126 6 R (RIBR) 143 6 | KB (LfizIR) 062
7 = (BEER) 1,337,006 7 BN (GBBR) 583,140 7 &R (dtim&E) 142 7 AFEH EFR) 063
8 R (RIBR) 1,322,271 8 |FHEWA  (LRE) 601,691 8 E= 35 (FERR) 141 8 |EEET EFR) 0.63
9 B iR ET (RIER) 1,315,498 9 |E&EH (RER) 603,041 9 = (BEER) 1.39 9 |HEF EFR) 064
10 |FEE® (BHR) 1,307,572 10 | sfisEr (ILFZ ) 603915 10 | KzEr (BHR) 1.39 10 | E&H (RHR) 0.64
(A) (F)
JEfL THET# 4 1TASYERE {53 THETH & 1A -YERE B4z HETH 4 i E R B4z TR 4 HbigE TR A
1 Hr&H  GRRED 1,583,412 1 ES o (RER) 220,101 1 Erar (EEE 346 1 ES20) (RHR) 047
2 KELHT (BER) 968,646 2 HEMEH EFR) 233,486 2 KLHT (BEER) 203 2 AEHEH EFR) 050
N 3 BT (deim:E) 921,215 3 |ERH EFR) 240,016 N 3 BMREH (PRR) 1.97 3| ERH EFR) 051
2L EF1 459,585 4 BRRM  (PRER) 870,246 4 |onBH (HFHR 251,667 BRA/ R/ 145 4 ST (L) 195 4 |FHET (LR R) 052
BX/R/ 1215 5 tiEm™ (FHEIR) 868,577 5 | KE#H (1)) 255,340 EHHRE 024 5 E2va) (EER) 1.82 5 |25 EHB) 054
ZHRE 025 6 AL ET (L8 840,223 6 |FFEPET EFR) 255512 6 20 (BEER) 1.82 6 | KRR (LA R) 0.55
7 B (BHEIR) 836,083 7 |FAcET (1ufizR) 255,826 7 iR [€14::3)) 178 7| REH (RER) 055
8 HE® (BEIR) 827577 8 z: i) FHBR) 259,014 8 AmEh (BEER) 173 8 |EBIEN (BB 055
9 = (BER) 827,192 9 REERT (REFR) 261,796 9 BEFAT (L&) 1.71 9 g FiRR) 0.56
10 |87 [CEEED) 815,946 10 |ABEH (EFR) 262,108 10 |F£HT (2R R) 1.71 10 | L#0ET (RHR) 056
() ()
JE4T THETA 4 1A S ERE JEfL T & 1ASYERE IE L HETH & g = TR JE4T HETH A g 1R K
1 RE)IFH  (RERER) 685470 1 ZREM  (GPHER) 213,117 1 AN (HER) 159 1 ZREM  ChBR) 0.50
2 RIERIE  (LiEE 615,354 2 |dEREA PR 231,155 2 REFET EHMR) 1.37 2 |AEREA (PR 054
ARt + 5 3 | RENET BHMR) 605,862 3 |FREEH (hER) 234,181 RSt + EaF 3 IERIET  (biEE) 1.36 3 |FEER (PR 0.55
£EF1 441,1700 4 il [ON=TO) 589,091 4 IMEEET  (RIBR) 249,003 &K/ 3215 4 B (FEHR) 132 4 IMEBET  (RIGR) 058
BX/BR/ 321 5 B (BEIR) 562,533 5 [|BREH  (PRER) 249,370 EHRE 012 5 R BT [ON-TO) 1.31 5 |BrER EE#H 059
EEFREK 0.13 6 WP ET (KBRFF) 560,699 6 HrBf (EEE) 252,363 6 9= (RIFR) 1.30 6 FREF (PR 059
7 AEFAT (BEIR) 558,500 7 |EESA ChER) 252918 7 /N1 [ON-TO) 1.29 7 |EEEH  (HER) 059
8 LBM [ON_TO) 558,223 8 |ZiRET FRR 261,011 8 ::k 20 (EER) 1.29 8 |HZEH (BER) 0.60
9 By s T (RIBR) 554,868 9 |fRRET GRAERRT) 262,363 9 VT (RBRAF) 127 9 |&iREr FHRR 0.61
10 |FE EBR) 553,969 10 |HESER (B R R) 264,931 10 |REH (RIER) 1.26 10 |ERAT (BERBS) 0.61
(F) ()
JE L BT A 1TANSTYERE JE L HBTA & TAS-YERE JE L Lk iR JE 4L LEE i E TR
1 WA (KBRAT) 52,882 1 HESH  GRE#E) 6,983 1 hIERIET  (tiEE) 1.65 1 |EESR  GRE#) 0.22
2 RIERIET  (LiEE 52,448 2 |ErEH ERE# 7,266 2 WET (KPR 1.60 2 | BB (REE) 022
W 3 KBRH (KBRFF) 52,111 3 |AFR#H EFR) 9,254 wH 3 BERA (R 159 3 | AF#H EFR) 0.28
2EF1 32,7720 4 RKEH (KRR 51575 4 |RKBE (GPRBR) 10,271 KR/ &N 1548 4 KB (RBRRAF) 158 4 | KFET (BHR 0.32
FK/ &/ 1615 5 - Lihi) (KBRFF) 51,231 5 | AKRaET HEHRR) 10,455 LERE 0.28 5 KAEET (ERER) 156 5 | FEF EHRR) 0.33
EERH 029 6 |FFeRET (K&R) 51,187 6 |EREH  (PER) 10,508 6  |mEepET [ON=TE) 155 6 |EHA EHRR) 033
7 \ET (KBRFF) 50,933 7 |EHH (FHR) 10,638 7 RKEH (KR 155 7 AKREET  ChIBE) 0.33
8 SRET [UN=T0) 50,462 8 |FEH (BHR 10,694 8 SRET [ON=T0) 155 8 |REAEN EFHR 033
9 R (KBRFF) 50,405 9 |ER#EN FHR 10,921 9 2 (KBRF) 155 9 |EXEH (PER) 0.34
10 AERT (1RR %) 50,342 10 | 5iRET (BERBR) 11,095 10 |/N\Em (KBRAT) 1.53 10 |iEEHN  (PER) 0.34




@ 2RERBEREREERRUHEEEH (TN ERBERERKR+ RIS EHEERSE)

(a) EEERE (b) HUIFZEIRH (FRMMIER)
REE 2 RERBHK HREIS (%) g fR 2RERER HREIS (%)
1. 250k 32 93 1. 258k 2 0.6
1. 15 E~1. 25K 47 137 1. 15 k~1. 25K 30 8.7
1. 05 E~1. 15Ki# 67 195 1.058k~1. 155Kk 66 192
0. 95LlE~1. 05Kt 91 265 0. 95kl E~1. 05K 103 299
0.85LlE~0. 95kiH 82 238 0. 85k E~0. 95k 119 346
0. 855Ki# 25 7.3 0. 85kKiH 24 70
A&t 344 100.0 = 344 100.0
TASEYEREOELV 2RERE TASRYEREDEV2RERE g EEROE L 2RERE g EIERDIEL2RERE
() ()
JE4L 2 RERER 1TASYERE JE L 2 REREA 1A -YERE B4 2REREA iR -3 2 RERER HigE TR
1 it (REAIR) 776,675 1 AN 11| Gh#EIR) 383,239 1 Rk (RIER) 1.32 1 b FiRR) 0.75
2 FERRIR [&1%:3 0] 748,041 2 = (hiBIR) 414,036 2 = (BEER) 1.28 2 |=ZF EFR) 0.77
Hi 3 &M war) 745537 3 AR (HHBIR) 416,055 it 3 g (BEER) 1.25 3 Elg 74 (RRER) 0.77
£E T 537,023M 4 Rk (RIFR) 743217 4 |EfT (R 416,460 BRA/ R/ 1815 4 HED EBR) 124 4 |TEE EFR) 0.78
BR/ T/ 2015 5 - [ON_TO) 742532 5 3k EHER) 421,714 EENRE 0.1 5 it (BEARIR) 1.24 5 g (RER) 078
EHRE0.14 6 (&4 (ES8) 740,982 6 |FEiLEME (FHD 429,443 6 [ (BRBR) 123 6 |RE EFR) 0.79
7 R (dtim&E) 739,077 7 EAE-RE CREER) 430,629 7 FERER (dtim&E) 1.23 7 E=4 EBR) 0.79
8 = (BER) 738,866 8 (253 FFNIR) 430,698 8 Je R (2R %) 123 8 |&Et (LLfz 2) 0.79
9 2 (RHR) 738,711 9 A# EFR) 430,967 9 HH (fERE1R) 1.22 9 SRR RER) 0.80
10 |&EE (BER) 738,596 10 |HE (FER) 433,064 10 |#a& ($E[R) 1.21 10 |4EE FRR) 0.80
(A) (F)
JEfL 2RERBA 1TASYERE {53 2RERES 1A -YERE B4z 2RERES i E R B4z 2RERBA HbigE TR A
1 izt (deiE:E) 423559 1 LA (FHR) 164,595 1 FEREIR [€[::3CH) 156 1 Elg 7 ::| (RAR) 0.69
2 o] (BERBR) 415,340 2 -2 HHZNR) 168,274 2 thi (BEER) 153 2 |xE (REFR) 070
N 3 HhZE4 (deim:E) 411,781 3 | BER 169,221 N 3 FaiE (BERER 152 3 | EFR) 0.70
£ EF1 238,463M 4 th (BER) 401,261 4 |EE-RE S GRER) 172,602 BRA/ R/ 2318 4 Ri& (RIFR) 151 4 |BELEME (FHR) 0.71
RX/R/ 2665 5 it (RERIR) 401,238 5 |FE (FHER) 173481 EHHREK0.19 5 A% {ITNE::3 ) 146 5 |&i3 FRR 0.71
ZHRE 023 6 &M (=15 396,714 6 |mE (FER) 173,902 6 Ha (ERER) 1.46 6 |=F AFR) 0.71
7 if: i [CA=TE) 392,854 1 |EfT (R 173914 7 FhZE4N [€14::3)) 146 7 |EFHEE EFR 0.72
8 21 (RHR) 387,156 8 |HEEER HZNR) 174,344 8 HE (FERR) 144 8 |EZAdLE EHR) 073
9 tiEsRL diEd) 382,758 9 BAMBR (BEHER) 175,066 9 HH (fEmR) 1.43 9 MRE EBER) 0.73
10 |RI& (RIBR) 382,330 10 [T (FHES) 175,735 10 |4LIR (JtiEE) 141 10 | T (FEHS 0.74
() ()
JE4T 2 RERER 1AL-YERE JEAT 2RERES 1ASYERE (33 2RERES g = TR JE4T 2RERBSA g 1R K
1 a [T 365,543 1 chif (HHBR) 180,207 1 /=] [ON-TO) 1.20 1 BEE (BERBS) 0.75
2 | (BIRR) 360,421 2 AN 11| (HHBIR) 180,220 2 RE (BEER) 1.19 2 X (ERSR) 0.77
ABzst+Ea%| 3 =54 (BERIR) 355,939 3 =5 192,081 ABzst+ 2% 3 a8 [ON-TO) 117 3 |&E FHRR) 0.79
2EFH 271,260 4 fwdt [ON_TO) 348,266 4 EwX (BERSR) 202,925 BR/ RN 1645 4 R (RIFR) 117 4 EE BER) 0.80
BKR/B&/ 2015 5 RE (BEIR) 342,439 5 |#EE (BERBS) 208,551 EHHRE 008 5 Bt (BEARIR) 1.15 5 |E@ (BER) 0.80
EEFREK 0.10 6 B= [ON_TO) 341,169 6 3k (HHBIR) 208,636 6 hEp EBR) 1.14 6 A# EFR) 0.80
7 X FENR) 331,236 7 BL& (RZHD) 209,971 7 PN (KBRFF) 1.14 7 =2 (PABR) 0.81
8 2 (RS8R 331,070 8 iRE (eiEi8E) 214,800 8 AR EBR 1.14 8 &t (L) 0381
9 Rk (RIBR) 329,538 9 |dLEs ChiaR) 216,734 9 ST &ENR) 1.14 9 |&L& (RHD) 0.81
10 LS (E5'8) 329,531 10 | EFR) 220,628 10 |BR#E (EER) 112 10 |2k (SRR 0.83
(F) ()
JE L 2 REREBE 1TANSTYERE JE L 2RERBEL TAS-YERE JE L 2RERBE iR JE 4L 2RERBS i E TR
1 -1 (KBRAF) 37,316 1 J\EWL (HHBIR) 15,284 1 KBRT (KRR 1.38 1 T (FHRR) 0.59
2 g8 (ES8) 36,856 2 | Tt (HFHR) 16,111 2 LHe (KPR 1.36 2 |EEELE  EINR 0.60
R 3 &/ (KIRAFF) 36,662 3 |gE (ERSR) 17,162 st 3 |eEm (KBRAF) 135 3 |x= (RHR) 061
£E T 27,300 4 AN (KBRAF) 36,462 4 |=EH (iBR) 17,430 BKR/ &I 2418 4 ) (RBRRAF) 1.34 4 |EEE (ERBR) 0.63
BR/RI 2418 5 KB (KBRFF) 35673 5 R ChiRR) 17,538 ZERE 017 5 N [ON_TO) 1.29 5 |EE FBHER) 0.65
EERE0.16 6 L5 [UN=T00) 35470 6 |EX (ERBR) 17,544 6 AN (RBRAF) 1.27 6 |EB (RIER) 0.65
7 de [CEETO) 35,026 7 REEALE (BRI 17,591 7 e (ER2) 1.26 7 INELW (HBR) 0.65
8 AR (KBRFF) 34,710 8 |FEiLEihE (FHR 18,004 8 g [ON=T0) 1.25 8 |=F EFR) 0.66
9 |= (KBRAF) 34,506 9 |EB (RIBR) 18,132 9 |=5 (KBRAF) 125 9 |#EX (ERER) 0.67
10 T (E58) 33815 10 |KRE (RER) 18,201 10 [dEAIR (KBRAT) 1.23 10 |HRE (ERSR) 0.67




@ TWEHBIEEEREUEZEH (METHERBRRAR +ERHSEEERGE)

(a) EEERE (b) HUIFZEIRH (FRMMIER)
REE LLIEPE:S HERREIS (%) g LLEES HAREIE (%)
1. 250k 180 103 1. 258k 33 19
1. 15 E~1. 255%i# 205 1.8 1.15k~1. 25%# 137 79
1. 05 k~1. 15K 319 183 1.058k~1. 15K 289 16.6
0. 95LlE~1. 05Kt 403 23.1 0. 95kl E~1. 05K 455 26.1
0.85LlE~0. 95kiH 432 248 0. 85k E~0. 95k 616 354
0. 85K 202 116 0. 85K 211 12.1
A&t 1741 100.0 = 1741 100.0
1A S Y ERE O S VITEA . 1A A=Y ERE QL TET AT - g SR M DB O HETH i E IR IRV TETR
& M
B4z HEA 4 1TASYERE JE AL THHEH & 1A -YERE JE AL AT & iR -3 THETF 4 HigE TR
1 B (BER) 1,021,965 1 INERF  (REE) 255,304 1 BERA (BEER) 1.49 1 BBEN  EBR) 067
2 REHR (BER) 965,906 2 JIE# (REFR) 317,842 2 ZEFET (FHE) 1.41 2 FiEH (REFR) 0.68
it 3 EALIESH (FHIR) 879,101 3 |HESN  ERE#) 320,643 it 3 iR (€143 )] 1.36 3 | XEH (REFR) 0.68
£E T 537,023M 4 FHFET  (FHR) 847872 4 |HrEHET ChiRIR) 351,008 BRA/ R/ 2208 4 ESito] (BEER) 1.36 4 |AFH EFR) 0.69
BKR/ T/ 4015 5 pllEs) (BEH1R) 838,166 5 g eos (RER) 367,825 EENRE0.12 5 REH (FEHR) 1.35 5 INER [ATED) 0.70
LR 0.16 6 NIAET (BRE) 824,852 6 |dEREM (PR 370,191 6 R (RIBR) 1.35 6 |:&rafEr FHRR 070
7 REET (BEER) 812,829 7 |BEET (eis:8) 375,193 7 REET (BEER) 1.35 7 |ExkeEr EFR) 071
8 =% (deiE:E) 807,773 8 | (FER 376,466 8 Tk (BEER) 132 8 |iBiRET FHRR 0.71
9 hEERIET  (LiEE) 799,284 9 EEEH (RS 379,392 9 HOEET  (EER) 1.32 9 AER (RER) 071
10 |REABE (E&R) 794,869 10 | KHRHET (BER) 379,657 10 |de)ust (BHER) 1.32 10 |/MEEET  (RIBR) 0.71
(A) (F)
JEfL THET# 4 1TASYERE {53 THETH & 1A -YERE B4z HETH 4 i E R B4z TR 4 HbigE TR A
1 K2 fT (S4E8) 673,032 1 INERA  (REED) 124,452 1 KEHT (BEER) 1.98 1 ES20) (RHR) 045
2 B (BER) 556,303 2 | EEH (RHR) 136,858 2 Hrer  GEEE) 1.88 2 | XEH (REFR) 058
N 3 PNIIESS (BER) 554,869 3 |m8iR# (lLER) 142,380 N 3 LR [€[::3CH) 1.87 3 |vEH (L3R 059
£ EF1 238,463M 4 ZIRNET BARR) 496,275 4 |onBH  (BHR) 144,857 BRA/ R/ 4415 4 20 (BEER) 175 4 |NRAET  (BERER) 0.61
RK/R/ 5415 5 fTEEr [E1#::30) 483,742 5 |#R® (FHER) 150,539 EHREK 021 5 E2va) (EER) 1.65 5 |MEREN  (BER 0.61
ZHRE 025 6 FREMH (L8 476,600 6 |=EMm (FER) 153,132 6 =T (BEER) 164 6 |- EAaET (RER) 0.62
7 NI (BHEIR) 475999 7 ks (RER) 153,291 7 tefE™ (BERER 163 7 |eiRH [T} 0.63
8 EAlIESH (BEIR) 469,651 8 |#EHTH (RIFR) 155,091 8 J\EHT [€1%:3 ) 1.60 8 |ohBTh  (FHER 0.63
9 =% (dtie:&) 457,695 9 KRBT #@ER) 155,128 9 FEAT (fEmR) 1.60 9 FHZET (LA R) 0.64
10 Rl [€l9;:36) 456,974 10 |FIALLET (BHR) 158,149 10 |EXEH  ChER) 1.60 10 | &ERH (EFR) 0.64
() ()
JE4T THETA 4 1AL-YERE JEAT T & 1ASYERE (33 TR & g = TR JE4T HETH A g 1R K
1 EA=PIIES (G310 456,978 1 NERF GREED 114,130 1 REEIM  REBR) 145 1 ZRMEM (RS 052
2 | (BHR) 435,440 2 |BREN (PR 127,900 2 |=ERET EHR) 1.40 2 |BEREH HER) 054
ABzst+Ea%| 3 FHFET  (FHR) 413,230 3 |EERARRAT  (RRRIR) 131,533 ABzst+ 2% 3 AL deiEE) 1.38 3 |BEEH (PR 0.54
£ETH 271,260 4 MUBIF s 412,356 4 BAEM  (hER) 133,499 &KX/ 285 4 SERF EER 1.35 4 EREHR  (PEER) 057
BKR/BR/ 4015 5 B JIIET (L) 408,496 5 |dXRM (PR 133,500 EHRHK 0.1 5 HAZEHAT EER) 133 5 |BEXEH (PER) 0.60
LERH 013 6  |cRUERIET  (tiEE) 399,343 6 |FEEM  (HER) 134,574 6 |uERIET  CtiEE) 1.30 6 |/MEEET (RIAR) 0.60
7 AL (BHR) 385312 7 |MEET GhiBR) 135972 7 BERA (BB 129 7| REH GhiBIR) 0.62
8 pNGER T MONT) 375,265 8 |BERar  (hER) 139,055 8 =EET C=1T D) 1.28 8 |EZRHH (RS 063
9 EE™ (1RIR) 371,081 9 | MEEN (RE#E) 140,045 9 REM (BEER) 127 9 |ERE (ERBR) 0.64
10 &M (E5'8) 366,511 10 | 5MEE  ChiER) 145,182 10 |BEM ESR) 1.26 10 |EERAmRAT  ChBR) 0.65
(F) ()
JE L BT A 1TANSTYERE JE L HBTA & TAS-YERE JE L Lk iR JE 4L LEE i E TR
1 SRET [ON_TO) 44,636 1 BREN (RS 11,344 1 SRET [ON_TD)] 155 1 BREN (PR 041
2 RIERIET  (LiEE 39,621 2 | REH (iR 11423 2 N4 (KPR 141 2 | ZEEH (hfRR) 043
i 3 REAHET (K5R) 39,484 3 5 imET (BERSR) 11,676 R 3 pz]:: L [€[#:::3CH) 1.39 3 5 5mET (BERBS) 045
£EFH 27,300 4 SBHET (deim:8E) 39,063 4 |RKBE (GPRBR) 12,321 KR/ &N 381E 4 L (RBRRAF) 1.39 4 [EFHH (BHR 045
FK/ &/ 3918 5 -1 (KBRFF) 38,301 5 |EFHH HEHRR) 12,351 ZERE 0.19 5 KR (KRR 1.38 5 |RERMEN  EFHR 047
EERE0.19 6 FF R AT [UN=T00) 38,155 6 | KFRaET (BHR 12,899 6 PHERIET (e 1.38 6 |AKBET (PEER) 0.49
7 \ET (KBRFF) 37,892 7 |REEH  (FEHS 13,238 7 FF R T [ON-TO) 1.37 7 |ERE (BERBS) 0.50
8 L (KBRAF) 37873 8 FEEN  (PER) 13,275 8 /4 (KBRAF) 1.37 8 EIA1IED) (FOERILIR) 0.50
9 KA (BRI 37,749 9 |EH (HHBR) 13,530 9 KER¥ELT (KBRAF) 1.37 9 |$RiTAET (ERBR) 051
10 KBRIELLTT (CRBRAT) 37,724 10 | 3aEH (BEHR) 13,603 10 |RKEH  (CKRAT) 1.36 10 | EEH HEHRER) 051
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